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Formulario 2 - Funcoes importantes
sen’z + cos’ x = 1 sen(—x) = —senx
14tg?a = 5 cos(—x) = cosw
cos?
, 1 sen(m —x) =senx
1 +C0tg xTr = 5
sen=r cos(m — x) = —cosx
sen(z + y) = senxz cosy + cosx seny sen( ) = —sen
T+x)=—senz
sen(z — y) = senx cosy — COS T seny cos( ) = — cos
T+x)=—cosw
sen2x = 2sen T cosx sen(/2 — z) = cos
T x) = cosx
cos(z + y) = coszcosy — senxseny cos(n/2 — z) =
os(m x) =senzx
cos(z —y) = cosxzcosy + senxseny (/2 + ) = cos
en(m x) = cosx
2 a2
Cos 2z = Cos”“ x — sen” & o cos(m/2+7) = —senz
2 l+cos2x 2 l—cos2x
cos T = > , sen-x = e sen(37/2 — ) = —cosw
/6  w/4 7/3 e cos(3m/2 —z) = —senx
sen | 1/2 v2/2 V/3/2 e sen(37/2 +x) = —cosx
cos | V3/2 V2/2 1/2
e cos(3m/2+ ) =senx
0 7/2 = 37m/2
sen 0 1 0 -1
cos | 1 0 -1 0
sh e’ ch e’
r= ——- xTr =
2 2 sh(z +y) =shazchy+chzshy
ch®z —sh’z =1 sh(x —y) =shxzchy —chzshy
chz+shz=e" sh2z = 2shzchax
sh(—z) = —shz, ch(—z)=chx ch(z +y) =chzchy+shxshy
th?x + —=1 ch(z —y) =chazchy —shaxshy
ch“z
, 1 ch2z =ch?z +sh’z
th®z — =1
T W ch(2z) —1 2 ch(2z) +1

h?z = : —
sh™x > )



